
SENTENCE TRANSFORMATIONS 11 

 

 

Complete the second sentence using the word in brackets so that it has the same meaning as the first one. 

 

1 We don't have enough money.  

We _________________________________________________________________________. (LITTLE) 

 

2 The house is too cold. 

The house _____________________________________________________________________. (WARM) 

 

3 He is not old enough to vote.  

He __________________________________________________________________________. (YOUNG) 

 

4 They don't employ enough people.  

They ___________________________________________________________________________. (TOO) 

 

5 These shoes are obviously not large enough for Tom.  

These shoes _____________________________________________________________________. (TOO) 

 

6 The wall wasn't high enough to keep dogs out.  

The wall _________________________________________________________________________. (TOO) 

 

7 He had too little time for it.  

He _________________________________________________________________________. (ENOUGH) 

 

8 It seems to me that he is too careless.  

It seems to me ________________________________________________________________. (CAREFUL)  

 

9 They don't pay me enough.  

They ___________________________________________________________________________. (TOO) 

 

10 You don't have enough friends.  

You ____________________________________________________________________________. (FEW) 

 

11 The problem is we don't have enough information. 

The problem is we _______________________________________________________________. (LITTLE) 

 

12 We have too little money to finish this project. 

We ________________________________________________________________________. (ENOUGH) 

 

13 Maybe I wasn't interesting enough?  

Maybe ______________________________________________________________________? (BORING) 

 

14 I don't have enough space to store these boxes.  

I ______________________________________________________________________________. (TOO) 

 

15 I don't have enough time to eat lunch today.  

I ______________________________________________________________________________. (LITTLE) 
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1 We don't have enough money.  

We HAVE TOO LITTLE MONEY. 

 

2 The house is too cold.  

The house IS NOT WARM ENOUGH. 

 

3 He is not old enough to vote.  

He IS TOO YOUNG TO VOTE. 

 

4 They don't employ enough people.  

They EMPLOY TOO FEW PEOPLE. 

 

5 These shoes are obviously not large enough for Tom.  

These shoes ARE OBVIOUSLY TOO SMALL FOR TOM. 

 

6 The wall wasn't high enough to keep dogs out.  

The wall WAS TOO LOW TO KEEP DOGS OUT. 

 

7 He had too little time for it.  

He DIDN'T HAVE ENOUGH TIME FOR IT. 

 

8 It seems to me that he is too careless.  

It seems to me THAT HE IS NOT CAREFUL ENOUGH. 

 

9 They don't pay me enough.  

They PAY ME TOO LITTLE. 

 

10 You don't have enough friends.  

You HAVE TOO FEW FRIENDS. 

 

11 The problem is we don't have enough information. 

The problem is we HAVE TOO LITTLE INFORMATION. 

 

12 We have too little money to finish this project. 

We DON'T HAVE ENOUGH MONEY TO FINISH THIS PROJECT. 

 

13 Maybe I wasn't interesting enough? 

Maybe I WAS TOO BORING? 

 

14 I don't have enough space to store these boxes.  

I HAVE TOO LITTLE SPACE TO STORE THESE BOXES. 

 

15 I don't have enough time to eat lunch today.  

I HAVE TOO LITTLE TIME TO EAT LUNCH TODAY. 


